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QUESTION 1

What are two ways to register a new Hitachi Unified Storage system with Storage Navigator Modular 2? (Choose two.)
A. SNM2 can scan a range of IP addresses.

B. SNM2 can import a .CSV file containing IP addresses.

C. The controller IP addresses can be entered into SNM2.

D. SNM2 automatically detects connected arrays using UDP broadcasts.

Correct Answer: AC

QUESTION 2

What are two effects of persistent binding? (Choose two.)

A. Persistent binding can speed up path failover.

B. Persistent binding guarantees Command Device security.

C. Persistent binding can speed up the server boot process.

D. Persistent binding guarantees that target assignments are preserved between reboots.

Correct Answer: CD

QUESTION 3

A storage administrator would like to connect 10 hosts into the same FC ports of a Hitachi Unified Storage system. They
are concerned that one host with high 1/0s will impact the other hosts on the same FC ports. Which HBA parameter
should be set to limit the number of outstanding I/Os on each host?

A. queue depth

B. command length

C. command depth

D. queue length

Correct Answer: A

QUESTION 4

A customer wants to migrate data between two Hitachi Unified Storage systems using TrueCopy. What are two
requirements? (Choose two.)
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A. The DM-LU must be greater than 10GB.

B. There must be FC connectivity between the arrays.
C. The P-Vol and S-Vol size must be equal.

D. A Command Device must be created.

Correct Answer: AC

QUESTION 5

Which three parameters must be set when adding a Cache Partition on a Hitachi Unified Storage system? (Choose
three.)

A. Controller

B. Raid Group
C. Cache Size
D. Segment Size
E. Logical Unit

Correct Answer: ACD
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